13 – Collective Bargaining in the Public Sector
True/False

[QUESTION]
1. Over the last twenty years union membership in the public sector has undergone rapid decline.
Ans: False
Page: 346
Difficulty: Easy

[QUESTION]
2. In the mid 1970's the political power of public sector unions in a number of cities eroded.
Ans: True
Page: 346
Difficulty: Medium
[QUESTION]
3. The 1980's witnessed renewed expansion of public sector union membership as illustrated by the revitalization of the Professional Air Traffic Controllers Organization.
Ans: False
Page: 347
Difficulty: Medium

[QUESTION]
4. In the famous Supreme Court decision handed down in 1989, it was declared that federal, state, and local employees would now be covered under the NLRA.
Ans: False
Page: 348
Difficulty: Easy

[QUESTION]
5. By 1990 all states had passed legislation granting state or local employees the right to organize and bargain collectively.
Ans: False
Page: 349
Difficulty: Medium
[QUESTION]
6. Prior to legislation which gave public employees the right to organize, public unions did not exist.

Ans: False
Page: 349
Difficulty: Easy

[QUESTION]
7. In some states the right to strike exists for certain public employees.
Ans: True
Page: 351
Difficulty: Hard
[QUESTION]
8. As in the private sector, supervisors in the public sector are not allowed to be in the same bargaining units as workers.
Ans: False
Page: 353
Difficulty: Medium

[QUESTION]
9. Bargaining power for the private and public sectors is determined by the same basic set of factors.
Ans: True
Page: 354
Difficulty: Medium
[QUESTION]
10. Public sector union organizers have begun to target employed welfare recipients as potential union members.

Ans: True
Page: 356
Difficulty: Hard
[QUESTION]
11. Bargaining structure in the public sector tends to follow along occupational lines.
Ans: True
Page: 358
Difficulty: Easy

[QUESTION]
12. Collective bargaining in the public sector is not bilateral, but multilateral.
Ans: True
Page: 358
Difficulty: Easy

[QUESTION]
13. The term, "end run," can be best described as a tactic that the union uses to sidestep the formal management negotiating team.
Ans: True
Page: 359
Difficulty: Medium
[QUESTION]
14. Research studies indicate that the public sector union-nonunion wage differential is typically in the range of 5% to 15%.
Ans: True
Page: 361
Difficulty: Easy

[QUESTION]
15. Since a majority of state and local governments have refused to give public unions the right to strike, a vast majority of these states have given these public unions the right to use interest arbitration.
Ans: False
Page: 362
Difficulty: Hard
[QUESTION]
16. Research indicates that interest arbitration has led to lower wage settlements and, in general, less favorable contract terms.
Ans: False
Page: 364
Difficulty: Medium

[QUESTION]
17. Research shows that, whenever it is available as an impasse resolution device, interest arbitration is used excessively.
Ans: False
Page: 364
Difficulty: Medium

[QUESTION]
18. In recent years arbitrators have become well equipped to make decision on work rule changes, restructuring of fringe benefits, work reorganizing and changes in the roles of labor and management.

Ans: False

Page: 364
Difficulty: Easy

[QUESTION]
19. Public sector pay rates continue to rise sharply for teachers and police officers.

Ans: False
Page: 365-366
Difficulty: Hard

[QUESTION]
20. School based management establishes a new committee comprised of state and local leaders that take power away from teachers and centralize it more in the hands of administrators.
Ans: True
Page: 368
Difficulty: Medium
[QUESTION]
21. Some of the problems that plague participation programs in the private sector have also plague participation programs in public schools.
Ans: True
Page: 368
Difficulty: Medium
[QUESTION]
22. Since public school performance has come under public scrutiny, there has been an increasing growth of accountability programs.
Ans: True
Page: 368
Difficulty: Medium
Multiple Choice

[QUESTION]
23. What percent of federal, state, and local government employees are represented by either a union or an employee association? 

A. 87%
B. 76%
C. 55%
D. 37%
E. 26%

Ans: D
Page: 346
Difficulty: Easy
[QUESTION]
24. What contributed to the growth of public sector unionism during the 60's and 70's?
A. A conservative swing in political ideology.
B. Decline in government resources.
C. Passage of laws favorable to public organizing.
D. Deregulation.
E. a and b.

Ans: C
Page: 346
Difficulty: Medium
[QUESTION]

25. The relative stability of industrial relations in the public sector as compared to the private sector can be explained by the effects of which of the following factors on the public sector? 

A. Deregulation.
B. Growth of alternative non-union suppliers.
C. Relatively fewer economic pressures.
D. Previous public union strike activities.
E. Granting of strike rights to all public unions.
Ans: C
Page: 347
Difficulty: Easy
[QUESTION]
26. Which of the following situations led to an increase in the power of public sector unions in the 1980's?
A. The Professional Air Traffic Controllers Strike.
B. The New York City Police Association Strike.
C. The increase in city budget problems.
D. Increased attention to problems in public education.
Ans: D
Page: 347
Difficulty: Medium
[QUESTION]

27. In the 1990s, “reinvention” of the public sector led to:

A. empowerment of the federal government.

B. downsizing.

C. privatization.

D. a & b.

E. b & c.

Ans: E
Page: 348
Difficulty: Medium

[QUESTION]

28. What law first gave federal employees the right to unionize and negotiate over working conditions other than wages or fringe benefits?
A. Public Law 95-454.
B. National Labor Relations Act.
C. Executive Order 10988.
D. Labor Reform Act of 1962.
Ans: C
Page: 349
Difficulty: Easy
[QUESTION]

29. Collective bargaining in the federal sector is regulated by
A. the NLRB.
B. the federal labor courts.
C. federal arbitrators.
D. the Federal Labor Relations Authority.
E. federal appellate courts.

Ans: D
Page: 349
Difficulty: Medium

[QUESTION]

30. Public strikes are most likely to occur in
A. states that provide public sector bargaining.
B. states that provide both public sector bargaining and interest arbitration.
C. states that provide public sector bargaining but no compulsory interest arbitration.
D. states that have no laws regulating public sector bargaining.
Ans: D
Page: 351
Difficulty: Easy
[QUESTION]

31. Which of the following is true regarding Marshall's conditions as it is applied in the public sector? 

A. The substitution of capital for labor is a lot easier in the public sector than it is in the private sector.
B. Demand for many public goods is relatively price elastic.
C. Labor costs represent a large part of total costs.
D. Employment losses would be large with increase in costs.
Ans: C
Page: 354
Difficulty: Medium
[QUESTION]

32. Which of the following factors reduce the strike leverage of public sector unions? 

A. Strikers in the public sector can often rely on alternative sources of income.
B. Lack of competitors in the public sector.
C. Most government agencies rely on taxes and not sales for revenues.
D. Public sympathy for public unions.
Ans: C
Page: 355
Difficulty: Hard
[QUESTION]

33. What affects the willingness of public employers to grant favorable collective bargaining outcomes to public unions? 

A. Constitutional or legal limitations on the amount of taxes that Local governments can raise.
B. Size of the tax base in the community.
C. Public willingness to be taxed.
D. Credit and debt capital markets.
E. all of the above.

Ans: E
Page: 356
Difficulty: Medium
[QUESTION]

34. Which of the following is true regarding collective bargaining in the public sector?
A. All public employees have equal rights to strike.
B. Employers and unions are hesitant to consolidate bargaining units.
C. Public sector collective bargaining is highly centralized.
D. Multi-employer bargaining exists in response to increased organizing in the public sector.
E. none of the above.

Ans: B
Page: 356
Difficulty: Easy
[QUESTION]

35. An "end run" can best be described as

A. union withdrawal of its demands.
B. management side stepping the union by talking directly to employees.
C. union officials side stepping the formal management team and taking the proposals to another party.
D. employer giving up its demands.
Ans: C
Page: 359
Difficulty: Medium
[QUESTION]

36. Which of the following is true regarding the relative wages of public school teachers in the late 1980's?

A. Wages steadily decreased after the PATCO strike.
B. Wages did not rise at all.
C. Though wages did not increase, fringe benefits for public employees increased.
D. Relative wages rose.
E. No such data exists because of the correlation-causation problem.
Ans: D

Page: 361
Difficulty: Hard
[QUESTION]

37. What are some of the arguments against public interest arbitration?

A. Public employees will not use it so long as they know that such decisions are binding.
B. It may cause a chilling effect.
C. Negotiators would be forced to propose low settlements for the fear of going to arbitration.
D. Relative wages rose.

E. There will be increased bargaining.
Ans: B
Page: 362
Difficulty: Easy
[QUESTION]

38. What is true about the effects of public interest arbitration?

A. Since most public unions are not allowed to strike, use of interest arbitration is extremely high.
B. Unions and employers always prefer final offer arbitration over conventional arbitration.
C. Strikes occur less frequently in those states where interest arbitration is available.
D. Strikes never occur in states that require interest arbitration.
Ans: C
Page: 364
Difficulty: Hard
[QUESTION]

39. Researchers have found that interest arbitration leads to

A. lower wage settlements and less favorable contract terms.
B. lower wage settlements but much more generous fringe benefit packages.
C. higher wage settlements and less favorable contract terms.
D. moderately higher wage settlements and more favorable contract terms.
Ans: D
Page: 364
Difficulty: Medium
[QUESTION]

40. The well publicized report A Nation at Risk claimed that

A. poor college education contributed to the cause of America's poor economic performance.

B. poor economic performance contributed to the demise of primary and secondary education in the United States.

C. poor primary and secondary schools contributed to the weakening economic performance of America.

D. poor economic performance was caused by the socio-economic structures that blacks and other minorities found themselves in.

Ans: C
Page: 365
Difficulty: Easy

[QUESTION]

41. Wellington and Winter's hypothesis rests on the assumption that
A. government's main responsibility is to prevent collective bargaining in the private sector, but to allow it in the public sector.
B. that government's main responsibility is to allow collective bargaining to reach all employees.
C. that government's main responsibility is to prevent collective bargaining in both sectors of the economy.
D. economic and political factors give public employee unions enormous potential power.

Ans: D
Page: 369
Difficulty: Medium
Short Questions and Answer Key
[QUESTION]
42. Describe two factors that contributed to the large growth in public sector unionism that occurred in the 1960s and 1970s in the United States.
Ans:
Possible answers:
Factors that spurred growth were:

favorable changes in state level legislation giving public employees the right to organize.
the growth in public expenditures.
the civil rights and other rights/protests movements of the 60s which set an example for public employees. 

Page: 346-347
Difficulty: Medium
[QUESTION]
43. Provide two reasons supporting the argument that because of differences in the nature and consequences of public and private sector collective bargaining, unions in the public sector should not be given the same rights to strike and organize as private sector unions.
Ans:
Possible answers:
Public employees may have too much strike leverage for many reasons including the fact that public services are essential services.
Governments are generally monopoly providers and this gives employee’s power.
Public employees can use political influence to affect outcomes to their advantage.
The demand for labor in the public sector is very inelastic, for many reasons (monopoly provision, the service nature makes it hard to use capital as a substitute for labor etc...)
Page: 354-355
Difficulty: Medium

[QUESTION]
44. Give an example of public sector multi-lateral collective bargaining and explain why multi-lateral bargaining is so common in the public sector.
Ans:
Possible answers:
In public school systems managerial authority is split between a long list of actors including the school district superintendent, the director of IR, the school board, the mayor, the taxpayers, the state and federal legislature who influence school budgets., etc.

Multi-lateral bargaining is common in the public sector because so often there managerial authority is divided across a host of actors. Also because of the political nature of public decision making and budgeting, managerial authority is divided.
Page: 358
Difficulty: Medium

[QUESTION]
45. Describe one potential good point (i.e. strength) and one potential bad point (i.e. weakness) of binding interest arbitration.
Ans:
Possible answers:
Good points:

Arbitration may reduce the frequency of strikes. 
Arbitration can provide outcomes that are more fair than letting management alone determine the contract.
The threat of arbitration may lead the parties to negotiate in earnest and thereby reach agreement.
Bad points:

Arbitration may produce outcomes that are inefficient and unworkable.
Arbitration may produce outcomes that are unfair to one side or the other.
The parties may have little incentive to bargain seriously if they could go to arbitration.
The parties may have little commitment to settlements imposed by an arbitrator and conflicts may then fester.
Arbitration may not fully avoid strikes as they may still occur.
Page: 362-364
Difficulty: Hard
Essay Exam Questions and Answer Key

[QUESTION]
46. Professors Wellington and Winter argued that public employee unions would have excessive bargaining power if extended the right to organize and strike. On what grounds did they make this argument? Give reasons why their argument may be wrong.  

Suggested answer: 
Student answers may vary.

Harry Wellington and Ralph Winter have based their argument on the fact that the government’s primary responsibility is to represent public interest which makes collective bargaining inappropriate for the public sector. Critics of public sector bargaining also claim that if labor unions are granted the rights to exclusive representation and negotiations, they will achieve undue political power. 

These arguments can be challenged as these positions ignore employee interests and inaccurately assess the actual effects of public sector collective bargaining. Private sector employees have an inherent right to participate in the determination of their working conditions. The mere fact that an employee works for the government should not strip that employee of the right to influence employment conditions through collective bargaining. Also the charge that collective bargaining leads to a perverse distortion of governmental decision making is not supported by the facts. 

Page: 369
Difficulty: Easy

[QUESTION]
47. Some observers feel that unionism or the right to strike gives public employees excessive power. Do the public sector unions actually have more power than private sector? How does public sector collective bargaining differ from private sector bargaining?  

Suggested answer: 
Student answers may vary. In order to examine whether public sector unions have more power than private sector unions, it is necessary to consider how environmental factors influence the public sector union bargaining power. This requires analysis of Marshall’s conditions and the trade-off between wages and employment. The same conditions influence bargaining power in the public sector and the private sector. Thus in the public sector bargaining power is determined by the same basic set of factors as it is in the private sector. Comparing the strike leverage, both in the public sector and the private sector the strike leverage is influenced by the employees’ ability and willingness to sustain income losses as a result of a strike. Public employees however face high penalty if they choose to strike. In the private sector the employer’s willingness to continue a strike is heavily influenced by the firm’s ability to sustain the income losses that result from the shutdown in production and sales during the strike. In the public sector income is not necessarily tied to sales and production and this works in favor of public employers during strike situations. Also bargaining in the public sector tends to follow occupational lines more than is the case in the private sector. In the public sector managerial authority and responsibility are widely shared. As a result, collective bargaining in the public sector is multilateral and not bilateral as it is in the private sector.

Page: 353 – 358
Difficulty: Medium

[QUESTION]
48. Describe the negotiations process in the face of multilateral bargaining. Enumerate some multilateral bargaining techniques and forms of negotiations, citing examples where ever applicable.

Suggested answer: 
Multilateral bargaining is a negotiations process that includes more than two distinct parties. In multilateral bargaining no clear dichotomy exists between the union and the management organization. A multilateral bargaining technique frequently observed in public sector negotiations is the “end run,” in which union officials try to sidestep the formal management negotiating team and take their proposals before an alternative group. Another form of multilateral negotiations occurs when a decision-making group rejects a negotiated agreement and refuses to implement it. For example, a school board which has to ratify the final agreement may change the terms and conditions of the bargain at the ratification stage due to constituent political pressures. Multilateralism can also arise when community interest groups become involved in the negotiations process. Multilateral bargaining also emerges in jurisdictions that face fiscal crises. 

Pages: 359 – 360
Difficulty: Easy
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